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Finda,, givena, = -21and S, = -288.

-288= 18214 2,)
~288- 8(-21+ a,)

Divide both sides by 8 and solve.

-36 = -21+a,
a, = -15
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Example:

Helen decided to save money from her tips for a week. She planned to save $5 the first
day, $7 the second day, $9 the third day, and so on.

Using this plan, how much would Helen save in seven days?
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S, =5+7+9+1M+134156+17 =77

Look at the sum. Beginning with 5, 2 was added to each term to get the next one. For the
nth term, 2 would be added n - 1 times.

Let's try this formula:

a, =5+(n-12
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a, =5+(n-12

This seems to do the trick! Now the sigma notation looks like this:
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3+7+11+15+19+23+27
The sum of first and last terms is 3 + 27 = 30.

How many 30s are there? Since there were 7 terms originally, there will be % sums of
30. (Don't worry about the fraction!)

3+7+11+15+19+23 +27=(})(30) = 105
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It seems, then, that we have a formula for finding the sum of an arithmetic series by using
the first and last terms, a, + a,,and the number of terms, n.

S, - 9@ <)
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Find S, giventhata, = -2anda, = 7.

Add the first and last terms, then multiply by half the number of terms:

S = 10-2+7)
S, = 5(5)
S, =25





 


 


 


 


 




         

